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Al 73,448
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307 212t0| & 10,000 10,000 0
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=} 16,400
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& 4,024
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50,000,000& = 14 50,000
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01 At 2t 2l 10,000 10,000 0
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A -8 2 HERA 50,000 50,000 0
307 glz2+ol & 50,000 50,000 0
02 HAFHAANGFEE 50,000 50,000 0
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02 PIZHEHAHEE 44,000 45,714 ANT1,714
OMIAEIS MIBES XJAAS 44,000
—&HHZ2E=XN MIEBEE X
44,000,000 = 14l 44,000
s 33,000
< 3,300
Al 7,700
(AN EHIY XNSBESALSY 30,000 25,000 5,000
= 21,000
< 2,700
Al 6,300
307 21201 A 30,000 25,000 5,000
= 21,000
< 2,700
Al 6,300
02 YAFHAANFEE 30,000 25,000 5,000
OAtgl &I XD EstAS 30,000
— gl XA 30,000,000& * 14 30,000
= 21,000
< 2,700
Al 6,300
()Z=SEMNIZANFELN (NG FCEHFHLR 803,700 181,956 621,744
el)
= 334,800
< 140,660
Al 328,240
307 2201 A 803,700 181,956 621,744
= 334,800
< 140,660
Al 328,240
02 It S AHE L 803,700 181,956 621,744
OZSEAMIZIMBELN2A(XNGEF=CE A
dXtel) (B8 )  803,700,0008 + 14! 803,700
= 334,800
< 140,660

w
|




2N
X ZH -
L= B

el

& Xtel Z J
22 ¥ NYPAFH(MIEX/=S)
2

Rl A
o
U X OA

g

=< e .

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

328,240

W]

(

JEAIEE AIZMARN

= W

152,500
45,750
53,375
53,375

162,500

A 10,000

308 XM S0IH

= W

162,500
45,750
53,375
53,375

162,500

A 10,000

=

=z N H

162,500

152,500
45,750
53,375
53,375

162,500

A 10,000

= H W

65,400
19,500
36,150

9,750

65,400

308 NtXIEHMSOIE

= Hn

65,400
19,500
36,150

9,750

65,400

)
1]
on
=2
o
o
oy
0%
I
40
Jm
>
Q
[==

O
0
M
[=]
o
e
=
E
ar
o
>
e

65,400,000 * 1

Al

=

=z o W

65,400

65,400
19,500
36,150

9,750

65,400

274,977

14,687
260,290

257,370

17,607

= M

268,377

14,687
253,690

253,690

14,687

04 DIt 22 XS+
O332=2 A

—EOK U2 Y A0S

0

268,377,000& * 1

Al
Ay

H

Al

268,377
268,377

268,377

14,687
253,690

253,690

14,687

[he}
2
e
e
M0
08
=

1,600

1,600

(]
>
1]
o

O
0 40
0
rJ
HU
=
1%
Ho
02
=

1,600,000 = 1

Al

=

1,600
1,600

1,600

206 M= Hl

5,000

1,600

3,400

01 M= dl

O3Z222 A MEF Bl 5,000,0008 * 1

Al

=

5,000
5,000

1,600

3,400

_14_




2N
X ZH -
L= B

el

& Xtel Z J

Xl AH O
=}
ol XIC>'|O§>

=< e .

g

22 ¥ NYPAFH(MIEX/=S)
2

Off &t 24

=

i
2m

X

=
-

H

Al

100,000

30,000
70,000

80,000

307 21201 &

H

Al

100,000

30,000
70,000

80,000

20,000

S 100,000,000 = 1

Al

=

H

Al

100,000

100,000

30,000
70,000

80,000

20,000

= H

180,000

36,000
144,000

180,000

307 21201 A

= N

180,000

36,000
144,000

180,000

02 B LML E X

OFSANYAMHEB LML (2LHIXH)
180,000,000& = 1

Al

=

= M

180,000

180,000

36,000
144,000

180,000

= M

6,474

1,943
4,531

6,474

= M

6,474

1,943
4,531

6,474

6,474,000& = 1

Al
Ay

H

Al

6,474

6.474
1,943
4,531

6,474

Al

24,029

10,824
13,205

23,876

153

Al

24,029

10,824
13,205

23,876

153

04 JIAtNZ22XSE*

eI ET
2

O
2
Jon
0z
0k
0
N
el
i
10
é
ol

Z LA

1,

6

= A
- T

48,0002 = 1

Al
Ay

= N

24,029

21,648

10,824
10,824

2,381

23,876

163

(D)IAHEEEEZdo2s

H

100,000
30,000

100,000




2N

Xield M ot

B 2222 2 NUOH(AS=X/CE)
Sl 322 U MYOH (B9 ®R)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
Al 70,000
307 glz2tol & 100,000 100,000 0
< 30,000
Al 70,000
02 It M AHE X 100,000 100,000 0
OIMHBECHE L0 SS-HAHE 2#I|2
X 100,000,000& * 14 100,000
< 30,000
Al 70,000
(Z)HERS Lab2Y 300,000 0 300,000
S 90,000
Al 210,000
307 glz2tol & 300,000 0 300,000
< 90,000
Al 210,000
02 It M AHE L 300,000 0 300,000
OFYUEY Lab 2 300,000,000& * 14 300,000
= 90,000
Al 210,000
(SIMNIEHFHES A2 D2 S 100,000 100,000 0
< 50,000
Al 50,000
307 21201 A 100,000 100,000 0
< 50,000
Al 50,000
02 HAFAAHEX 100,000 100,000 0
OMSIHZHMEBAMNZ2S NS (EXE 83%)
100,000,000& * 14! 100,000
< 50,000
Al 50,000
(D)gxelads220/g9Xe 64,516 21,739 42,777
< 18,816
Al 45,700
308 XXM S0l A 64,516 21,739 42,777
< 18,816
Al 45,700
10 B2 SUHUe3AHEAE A 64,516 21,739 42,777
OgXel&E 2718 XN3AEY
64,516,000 14l 64,516
< 18,816
Al 45,700
CHer 44 OFZ2HIOIE XI& ALY 18,556 0 18,556
101 @124 dl 18,556 0 18,556
04 DIt 22 XREES 18,556 0 18,556
OU&4 Ot=HI0IE K& ALY 18,556




2N
X ZH -
L= B

el

0K o
0K 0

& Xtel Z J

fr s e | al
- = =

al

o]
= o
22 ¢ NPy

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—Jles 68,7203 * 109 » 22¢ 15,119
- T4 68,7203 = 109 2 2,749
— 3= 68,7203 * 109 » 1« 688
CHetel= L RtelAAZL ZHIt 8,000 8,000
308 XXM SO0l A 8,000 8,000
10 S22SB4 AE AR 8,000 8,000
BHOI2 UNRlAAT &Op
8,000,000& 4l 8,000
(=)0lidl BEEHI XA 115,000 115,000
= 52,500
Al 62,500
307 glz2tol & 115,000 115,000
= 52,500
Al 62,500
02 It M AHE X 115,000 115,000
02020 oidl FEE At XA
115,000,000& * 14 115,000
2 52,500
Al 62,500
(2)BA01(FEH0IY, 240/1Y) FEL TN 76,000 76,000
A
= 38,000
Al 38,000
307 21201 A 76,000 76,000
= 38,000
Al 38,000
02 UAFAAFEX 76,000 76,000
02020 EAJI S (EFER2INY, 2AI18)F A
2 xtel K& A 76,000,000 = 14l 76,000
2 38,000
Al 38,000
(Z)EEZEX AFETHS A 53,900 53,900
< 26,950
Al 26,950
308 XXM SOIA 53,900 53,900
< 26,950
Al 26,950
10 I/ 2 SOICHetE & X 2 & A I 53,900 53,900
OHEIZTAMEIHS A 53,900,000& * 14 53,900
= 26,950
Al 26,950
(D) FBAMAE(INL2AT) EXXA 20,000 20,000
< 10,000
Al 10,000
405 XtaHE SHI 20,000 20,000




2N
X ZH -
L= B

el

& Xtel Z J

fr s e | al
- = =

Xl A
o
22 ¥ oy

0K o
0K 0

AOH (AEI=ER/E8)

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 70,000
Al 10,000
01 AL EZFH S 20,000 0 20,000
OLRelBENAL(IN2AI)E XX
20,000,000& * 14 20,000
< 10,000
Al 10,000
HUX =ZtE (&Y - SIS L0 U X /0l XY XHE K 2,081,619 1,386,550 695,069
@)
= 33,024
J| 130,282
< 476,877
Al 1,441,436
Xt 2 B2 2,081,619 1,386,550 695,069
= 33,024
J| 130,282
< 476,877
Al 1,441,436
Ol Xl ot 2te] 179,519 146,550 32,969
101 @14l 11,683 0 11,683
04 D12t Z22EE = 11,683 0 11,683
OHAEI EIIEA 11,683
— A HIZA(EMN) 22
68,7203 * 6H » 15¢ 6,185
—HEI HIZAH(EZR) o182
68,7203 * 4H » 20 5,498
201 £B-2%H| 8,700 5,328 3,372
01 At 22l 8,360 4,988 3,372
OJtactd e 228 160& = 5,0000H 800
O0URX B 22dH 160& = 5,0000H 800
OHEI HIZBAE JIE 28 M2
800,000& * 1set 800
OAEI BINZA & Xz
600,000& = 13l 600
OAEI HIZAE A28 7
1,000,000& * 12l 1,000
OFJIIZ A 2Scte QIMHl S 1,020
—desK 200& = 2,0000H 400
—MNESXZEHA 1002 = 200& 20
—JIEH (8=, & S)
50,0003 * 38 * 404 600
OJA & HHXZES s23% HA
1,000& * 1,0000H 1,000
ONMMERME MEMFH 80 7¢
1,000& = 5000 * 48 + 43| 800




M LXelZ ot

FH: UK =3AHE (LY - S22 SLUAEX /0 XL IR
oSl URSE ¥ 22N (c9: & 9)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZANIMNASSANEAE e HH+E
70,000& * 59 = 23| 700
O=MHEAAS Ha2g
70,000& * 6% = 23| 840
02 =224l 340 340 0
OMaEZ 2olstad &8IIea3
20,000& = 12& 240
OM&eZ 2Aolstad X2 (AsxdEs S
) 100,000 * 14 100
207 & O &l 18,000 0 18,000
01 2284 18,000 0 18,000
OYFA MEA SMST 5HE S8 = (37)
=8 H18Y 18,000,000& * 14 18,000
301 EEd = 1,136 1,222 A 86
12 JIEBHE4 = 1,136 1,222 A 86
OflgR S SESIA AB EY 1,136
— LR 1,490 = 44 * 50004 + 23] 596
- 8 1,350 = 44 = 50004 * 23] 540
402 RIZ2EXH20| A 140,000 140,000 0
01 2IZEt 2 A B (KM &) 140,000 140,000 0
OAtg| MRt JDtAAEAEX X (BEE8 FY)
2,000,000& * 10AICH 20,000
OZHHEOEXNY TAIA BESAY
75,000,000 * 2JH2 » 80/100 120,000
(RIMLYUS JIAANE A 41,280 196,000 A 154,720
= 33,024
= 2,477
Al 5,779
403 X SHHSA=0l& 41,280 196,000 A 154,720
= 33,024
< 2,477
Al 5,779
02 S 2S00 HE A2 X &AL H 41,280 196,000 A 154,720
ONBIE JIAANEMEME X 41,280
— QS AIHH(EAH2 DX &)
258,000& * 1600H £ 41,280
= 33,024
< 2,477
Al 5,779
(B)HAAS HHUXNS XX 100,000 100,000 0
J| 70,000
Al 30,000
401 A& HIZ 201 8] 100,000 100,000 0
J| 70,000
Al 30,000




2N

& Xtel Z J

HE: UK 20F (AL - SAD| ALK /0l L XL RO
Sl MUTE U BIMA CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 Al&H| 100,000 100,000 0
OFLHE HHXN=EX AL 100,000
—NAEZS LEDXY WH KNS AIS
500,000& * 2000t 100,000
J| 70,000
Al 30,000
()M THAM UK ESALY 166,000 232,000 A 66,000
= 49,800
Al 116,200
402 12V XHE0| ™ 166,000 232,000 A 66,000
= 49,800
Al 116,200
02 CI2ZEXIE A E X (0| ETHS) 166,000 232,000 A 66,000
OXMTHMAH AKX =&KX AS 166,000
— J2lE 1008ts =22 AY
166,000,000 * 14! 166,000
= 49,800
Al 116,200
(Z)AMBIE JIAANLE WA 8,000 40,000 A 32,000
o= 2,400
Al 5,600
403 XX SHHMS K201 A 8,000 40,000 A 32,000
o= 2,400
Al 5,600
02 BI2SHUSXAN=2EAEAIS Y 8,000 40,000 A 32,000
OKMBIE JIACHEXISHDI(EIOIHE) E=2 ALY
50,0003 = 16004 & 8,000
o= 2,400
Al 5,600
()0 KIE AL 23,000 0 23,000
o 6,900
Al 16,100
402 SI2vXHE0| & 23,000 0 23,000
= 6,900
Al 16,100
02 QIZXIE A E X (0| XM THH) 23,000 0 23,000
OZXNANEHUKXEAALY 23,000,008 * 14! 23,000
& 6,900
Al 16,100
(S)ZAIA DIZ2SRE A 420,000 297,600 122,400
& 126,040
Al 293,960
402 SI2FXHE0| & 420,000 297,600 122,400
= 126,040
Al 293,960
02 CIZEXIEAIS X (0| XM THL) 420,000 297,600 122,400
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2N

& Xtel Z J

HE: UK 20F (AL - SAD| ALK /0l L XL RO
Sl MUTE U BIMA CERED
_ = (o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OZAIE Z2229N% NEAMS(A=E 70%)
420,000,000 = 14! 420,000
< 126,040
Al 293,960
(Z)LPGASE M AU IE S ALY 929,500 284,400 645,100
== 270,000
Al 659,500
402 DIZHRHE 0| & 929,500 284,400 645, 100
< 270,000
Al 659,500
02 QIZEXIEAISE X (0| XM THL) 929,500 284,400 645,100
OsHELPGAE HNEY D B2 ALY
516,388,500 = 2J1 A = 90/100 929,500
= 270,000
Al 659,500
(2)AITHASOl 4 K| X< XI 24 A 133,960 0 133,960
J| 60,282
Al 73,678
401 Al EHI L 204 HI 133,960 0 133,960
J| 60,282
Al 73,678
01 Al&H| 133,960 0 133,960
OAMTHMOUIUKX KNEXFAIS(Z2E Ef A2
SHAIE &EX) 133,960,000 * 14! 133,960
J| 60,282
Al 73,678
(S)ATHMH UK S2ULEHHEAAE 2= 18,000 0 18,000
o 5,400
Al 12,600
402 SI2FXHE0| ™ 18,000 0 18,000
o= 5,400
Al 12,600
02 QIZEXIEANISEX (0| XM THLH) 18,000 0 18,000
OAMTHMUNUXI2LBEHEAAEMLAI(BZY)
18,000,000 = 1A 18,000
= 5,400
Al 12,600
(SILPIHHAAS AL O N E A 62,360 0 62,360
= 13,860
Al 48,500
403 AIXSHME X201 N 62,360 0 62,360
= 13,860
Al 48,500
02 Z2I)|2SoUetI & E A HI 62,360 0 62,360
OLPIIAANSAIEHEAHAIS
69,290,000 = 14! % 89.998/100 62,360
o 13,860




M LXelZ ot

Hz: A =20 H (MY - SAISLHUE X /0 XY XHROHE)
S dXetd Y 3308 (&2 &)
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
[ 1] A 78500
HESHAL (L X2 Z M) (I1EH IIE) 121,030 113,530 7,500
DIR= sl 121,030 113,530 7,500
Jl2&l 121,030 113,530 7,500
201 LEt2 Y| 25,930 25,930 0
01 At 22l Yl 25,930 25,930 0
OsAMEXN 7 15,000 * 202 A * 128 3,600
OEZ A 7,000& * 64l x 20H * 128 10,080
Odbteg 100,000& * 12& 1,200
O A7 50,000& = 12& 600
OArE2 =44 9,250
—Z2AM(HE) =2l 1,000,000& = 1CH 1,000
— T2 =2l 100,000& * 5CH = 50/100 250
— 2A EY 200,000& * 53 « 104 1,000
—T2HI EH(EY)
200,000& * 53 = 50 5,000
—T2lHI EH(Zet)
200,000& * 53 « 104 1,000
—PC =2l 100,000 = 20CH = 20/100 400
— J|EF =#=2lb]| 50,000& = 12& 600
OJIEF AFR 22l bl 5,000& * 20¥ = 12& 1,200
202 04| 82,800 82,800 0
01 2LHOHI 82,800 82,800 0
OgXeld MY LRF=& bl 82,800
— 2ZHLH 04 B 20,0008 » 20¥ * 122 x 12& 57,600
— 2204 Hl 90,000& » 20 = 14 25,200
203 PR =&Y| 6,900 3,600 3,300
01 J|22H L RF=AH| 3,300 0 3,300
OJ|22H YR =&Y 3,300,000& * 1H 3,300
04 ENSIHRF=AY| 3,600 3,600 0
ORNM2IIRF&Y| 300,000& « 12& 3,600
204 X4 AY| 5,400 1,200 4,200
01 MM RAHFH| 5,400 1,200 4,200
ONBZHRHZH| 5,400
— dHAE=HE 350,000& * 1 = 12& 4,200
— £ Xrel E A& 100,000& * 198 = 12& 1,200
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